

IDENTITIES AND RELATION ON THE POLY-GENOCCHI POLYNOMIALS WITH A q -PARAMETER

BURAK KURT

ABSTRACT. Komatsu generalized the poly-Cauchy numbers with a q -parameter. Recently, Cencki and Komatsu defined and investigated poly-Bernoulli numbers and polynomials with a q -parameter. They proved some relations between these polynomials and weighted Stirling numbers of the first and second kind.

In this work, we define poly-Genocchi numbers and polynomials with a q -parameter. We give a recurrence relation for the poly-Genocchi polynomials. Also, we prove some relations and closed formulae for the poly-Genocchi numbers with a q -parameter.

1. INTRODUCTION

The classical Bernoulli numbers and polynomials are defined the following generating functions respectively,

$$\sum_{n=0}^{\infty} B_n \frac{t^n}{n!} = \frac{t}{e^t - 1}, \quad |t| < 2\pi, \quad (1)$$

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{2t}{e^t + 1} e^{xt}, \quad |t| < 2\pi. \quad (2)$$

Similarly, the classical Genocchi numbers and polynomials are defined the following generating functions respectively [1],

$$\sum_{n=0}^{\infty} G_n \frac{t^n}{n!} = \frac{2t}{e^t + 1}, \quad |t| < \pi, \quad (3)$$

$$\sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} = \frac{2t}{e^t + 1} e^{xt}, \quad |t| < \pi. \quad (4)$$

2010 *Mathematics Subject Classification.* 11B68, 11B73, 33E30.

Key words and phrases. Genocchi numbers and polynomials, Bernoulli numbers and polynomials, The Stirling numbers of the second kind, Weighted Stirling numbers of the second kind.

©2018 Ilirias Research Institute, Prishtinë, Kosovë.

Submitted November 1, 2017. Published December 1, 2017.

The present investigation was supported, by the *Scientific Research Project Administration of Akdeniz University*. Project Number: FYD-2017-2514. We would like to thank the referees for their valuable comments and suggestions on the present paper.

Communicated by Serkan Araci.

Let $k \in \mathbb{Z}$, $k > 1$. Then k -th polylogarithm functions is defined

$$L_{i_k}(z) = \sum_{n=1}^{\infty} \frac{z^n}{n^k} \quad (5)$$

([1]-[22]). This function is convergences for $|z| < 1$. If $k < 0$, the polylogarithm function is a rational function. For some $k \in \mathbb{Z}^+$,

$$L_{i_0}(x) = \frac{x}{1-x}, L_{i_{-1}}(x) = \frac{x}{(1-x)^2}$$

$$L_{i_{-2}}(x) = \frac{x^2+x}{(1-x)^3}, L_{i_{-3}}(x) = \frac{x^3+4x^2+x}{(1-x)^4}, \dots$$

For $k = 1$,

$$L_{i_1}(z) = -\log(1-z).$$

The Stirling numbers of the second kind is defined as:

$$\sum_{n=0}^{\infty} \mathcal{S}_2(n, m) \frac{t^n}{n!} = \frac{(e^t - 1)^m}{m!}. \quad (6)$$

The poly-Bernoulli numbers are defined by following generating functions by Arakawa-Kaneko in [1]:

$$\sum_{n=0}^{\infty} B_n^{(k)} \frac{t^n}{n!} = \frac{L_{i_k}(1 - e^{-t})}{1 - e^{-t}}. \quad (7)$$

Moreover, the poly-Bernoulli polynomials are defined by following generating functions by Hamahata-Bayad in ([4], [9])

$$\sum_{n=0}^{\infty} B_n^{(k)}(x) \frac{t^n}{n!} = \frac{L_{i_k}(1 - e^{-t})}{1 - e^{-t}} e^{xt} \quad (8)$$

and by Coppo and Candelperger in [8]

$$\sum_{n=0}^{\infty} B_n^{(k)}(x) \frac{t^n}{n!} = \frac{L_{i_k}(1 - e^{-t})}{1 - e^{-t}} e^{-xt}. \quad (9)$$

Kim *et al.* in [15] are defined the poly-Bernoulli polynomials and the poly-Genocchi polynomials respectively

$$\sum_{n=0}^{\infty} B_n^{(k)}(x) \frac{t^n}{n!} = \frac{L_{i_k}(1 - e^{-t})}{e^t - 1} e^{xt} \quad (10)$$

and

$$\sum_{n=0}^{\infty} G_n^{(k)}(x) \frac{t^n}{n!} = \frac{2L_{i_k}(1 - e^{-t})}{e^t + 1} e^{xt}. \quad (11)$$

The second kind weight Stirling numbers $\mathcal{S}_2(n, m, x)$ are defined by Carlitz in [5] as

$$\sum_{n=0}^{\infty} \mathcal{S}_2(n, m, x) \frac{t^n}{n!} = \frac{(e^t - 1)^m}{m!} e^{xt}. \quad (12)$$

The λ -Stirling numbers of the second kind $\mathcal{S}_2^\lambda(n, m)$ are defined by [18]

$$\frac{(\lambda e^t - 1)^m}{m!} = \sum_{n=m}^{\infty} \mathcal{S}_2^\lambda(n, m) \frac{t^n}{n!}. \quad (13)$$

Note that when $\lambda = 1$, we have $\mathcal{S}_2^1(n, m) = \mathcal{S}_2(n, m)$ ordinary Stirling numbers of the second kind.

The q -parameter poly-Bernoulli numbers are defined by Cenkci-Kamatsu in [7] by following generating functions:

$$\sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)} \frac{t^n}{n!} = \frac{qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{1-e^{-qt}}. \quad (14)$$

Kaneko in [13] defined poly-Bernoulli numbers in the first time. He proved symmetry identity poly-Bernoulli numbers $B_n^{(-k)} = B_k^{(-n)}$. S. Peregrino in [22] proved the closed formulae for the poly-Bernoulli numbers.

Bayad and Hamahata in [4] introduced and investigated the poly-Bernoulli polynomials and gave some relations for these polynomials. Hamahata in [9] defined poly-Euler polynomials and gave the some recurrence relations.

Kim *et al.* in [15] defined poly-Genocchi polynomials and gave the some properties for the poly-Bernoulli numbers between the poly-Genocchi polynomials.

Jolany *et al.* in ([10], [11]) introduced and investigated the generalized poly-Bernoulli polynomials with the parameters a , b and c .

Cenkci and Komatsu in [7], Cenkci and P. T. Young in [6] are defined q -parameter poly-Bernoulli numbers and proved relation between the second kind Cauchy numbers and the first kind Cauchy numbers.

In this work, we give some relations between poly-Bernoulli numbers and poly-Genocchi numbers. Also, we define modified poly-Bernoulli polynomials and prove some relations for these polynomials. We introduce and investigate the poly-Genocchi polynomials. We prove the relation between the q -parameter poly-Genocchi numbers and the Stirling numbers of the second kind.

2. q -PARAMETER POLY-GENOCCHI POLYNOMIALS

In this section, we give some relations for the q -parameter poly-Genocchi polynomials. Also, we give some relation between q -parameter poly-Genocchi polynomials, q -parameter poly-Bernoulli polynomials, q -parameter poly-Genocchi numbers and the Stirling numbers of the second kind.

Definition 1. *The q parameter poly-Genocchi numbers and polynomials are defined the following generating functions respectively,*

$$\sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} = \frac{2qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{e^{qt} + 1} \quad (15)$$

and

$$\sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)}(x) \frac{t^n}{n!} = \frac{2qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{e^{qt} + 1} e^{xt}, \quad (16)$$

where n , k integer, $n \geq 0$, $k \geq 1$ and $q \neq 0$ real parameter.

For $q = 1$, $k = 1$. Using (15) and (16), we have classical Genocchi numbers and Genocchi polynomials

$$\mathcal{G}_{n,1}^{(1)} = G_n, \quad \mathcal{G}_{n,1}^{(1)}(x) = G_n(x).$$

Theorem 1. *The following relation holds true:*

$$\sum_{m=0}^n \binom{n}{m} \mathcal{G}_{n-m,q}^{(k)} q^m + \mathcal{G}_{n,q}^{(k)} = 2 \left\{ \sum_{m=0}^{\infty} \frac{(-1)^{m+n+1}}{(m+1)^k} q^{n-m} (m+1)! \mathcal{S}_2(n, m+1) \right\}. \quad (17)$$

Proof. Using (15) and (6), we write as

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} &= \frac{2qL_{i_k} \left(\frac{1-e^{-qt}}{q} \right)}{e^{qt} + 1} \\ e^{qt} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} &= 2qL_{i_k} \left(\frac{1-e^{-qt}}{q} \right) \\ &= 2q \sum_{m=1}^{\infty} \frac{\left(\frac{1-e^{-qt}}{q} \right)^m}{m^k} \\ &= 2q \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} (-1)^{m+1} \frac{1}{q^{m+1}} (e^{-qt} - 1)^{m+1} \\ &= 2 \sum_{m=0}^{\infty} \frac{(-1)^{m+1}}{(m+1)^k} \frac{1}{q^m} \sum_{n=0}^{\infty} (m+1)! \mathcal{S}_2(n, m+1) \frac{(-qt)^n}{n!}. \\ \sum_{m=0}^{\infty} q^m \frac{t^m}{m!} \sum_{l=0}^{\infty} G_{l,q}^{(k)} \frac{t^l}{l!} + \sum_{n=0}^{\infty} G_{n,q}^{(k)} \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} G_{n-m,q}^{(k)} q^m + G_{n,q}^{(k)} \right\} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} \mathcal{G}_{n-m,q}^{(k)} q^m + \mathcal{G}_{n,q}^{(k)} \right\} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ 2 \sum_{m=0}^{\infty} \frac{(-1)^{m+1}}{(m+1)^k} \frac{1}{q^m} \sum_{n=0}^{\infty} (m+1)! \mathcal{S}_2(n, m+1) \frac{(-qt)^n}{n!} \right\} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficient of $\frac{t^n}{n!}$, we have (17). ■

Theorem 2. *The following relation holds true*

$$\sum_{m=0}^n \binom{n}{m} \mathcal{G}_{n-m,q}^{(k)} q^m + \mathcal{G}_{n,q}^{(k)} = 2 \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \frac{(-1)^j}{q^m} \sum_{j=0}^{m+1} \binom{m+1}{j} (-qj)^n. \quad (18)$$

Proof. From (15), we write as

$$\begin{aligned} e^{qt} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} &= 2qL_{i_k} \left(\frac{1-e^{-qt}}{q} \right) \\ &= 2q \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} (-1)^{m+1} \frac{1}{q^{m+1}} \sum_{j=0}^{m+1} \binom{m+1}{j} e^{-qtj} (-1)^{m+1-j} \\ &= \sum_{n=0}^{\infty} \left\{ 2 \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \frac{(-1)^j}{q^m} \sum_{j=0}^{m+1} \binom{m+1}{j} (-qj)^n \right\} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficient of $\frac{t^n}{n!}$, we have (18). ■

Theorem 3. *The following relation holds true*

$$2\mathcal{B}_{n,q}^{(k-1)} = \sum_{m=0}^n \binom{n}{m} (2q)^{n-m} [\mathcal{G}_{m,q}^{(k)} + \mathcal{G}_{m+1,q}^{(k)}] + \sum_{m=0}^n \binom{n}{m} q^{n-m} \mathcal{G}_{m+1,q}^{(k)}. \quad (19)$$

Proof. From

$$L_{i_k}^1(t) = \frac{1}{t} L_{i_{k-1}}(t),$$

we write

$$\begin{aligned} L_{i_k}^1\left(\frac{1-e^{-qt}}{q}\right) &= \frac{qe^{-qt}}{1-e^{-qt}} L_{i_{k-1}}\left(\frac{1-e^{-qt}}{q}\right). \\ \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} &= \frac{2qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{e^{qt}+1} \\ 2qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right) &= e^{qt} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!}. \end{aligned} \quad (20)$$

Differentiating to the both sides of the Eq. (20), with respect to t , yields to the following equality

$$\begin{aligned} 2q^2 \frac{e^{-qt}}{1-e^{-qt}} L_{i_{k-1}}\left(\frac{1-e^{-qt}}{q}\right) &= qe^{qt} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + e^{qt} \sum_{n=1}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^{n-1}}{(n-1)!} + \sum_{n=1}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^{n-1}}{(n-1)!} \\ 2q \frac{q}{1-e^{-qt}} L_{i_{k-1}}\left(\frac{1-e^{-qt}}{q}\right) &= qe^{2qt} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + e^{2qt} \sum_{n=1}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^{n-1}}{(n-1)!} + e^{qt} \sum_{n=1}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^{n-1}}{(n-1)!} \\ 2q \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k-1)} \frac{t^n}{n!} &= q \sum_{n=0}^{\infty} (2q)^n \frac{t^n}{n!} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} + \sum_{n=0}^{\infty} (2q)^n \frac{t^n}{n!} \sum_{m=0}^{\infty} \mathcal{G}_{m+1,q}^{(k)} \frac{t^m}{m!} + \sum_{n=0}^{\infty} q^n \frac{t^n}{n!} \sum_{m=0}^{\infty} \mathcal{G}_{m+1,q}^{(k)} \frac{t^m}{m!}. \end{aligned}$$

Comparing the coefficients of both sides, we have

$$2\mathcal{B}_{n,q}^{(k-1)} = \sum_{m=0}^n \binom{n}{m} (2q)^{n-m} [\mathcal{G}_{m,q}^{(k)} + \mathcal{G}_{m+1,q}^{(k)}] + \sum_{m=0}^n \binom{n}{m} q^{n-m} \mathcal{G}_{m+1,q}^{(k)}.$$

■

Theorem 4. *The following relation holds true:*

$$2 \left\{ \mathcal{B}_{n,q}^{(k)} - \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m,q}^{(k)} (-q)^m \right\} = \sum_{m=0}^n \binom{n}{m} \mathcal{G}_{n-m,q}^{(k)} q^m + \mathcal{G}_{n,q}^{(k)} \quad (21)$$

Proof. From (14) and (15),

$$\begin{aligned} 2 \frac{L_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{\frac{1-e^{-qt}}{q}} \frac{1-e^{-qt}}{q} &= 2 \frac{L_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{\frac{e^{qt}+1}{q}} \frac{e^{qt}+1}{q} \\ \frac{2}{q} \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)} \frac{t^n}{n!} (1-e^{-qt}) &= \frac{1}{q} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} (e^{qt}+1) \\ 2 \left\{ \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)} \frac{t^n}{n!} - \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)} \frac{t^n}{n!} \sum_{n=0}^{\infty} (-q)^n \frac{t^n}{n!} \right\} &= \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!} \sum_{m=0}^{\infty} q^m \frac{t^m}{m!} + \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)} \frac{t^n}{n!}. \end{aligned}$$

By Cauchy product and comparing the coefficient of $\frac{t^n}{n!}$, we have (21). ■

Corollary 5. *The following relation holds true:*

$$2\mathcal{B}_{n,q}^{(k)}(x) = \sum_{m=0}^n \binom{n}{m} \left\{ \mathcal{G}_{n-m,q}^{(k)}(x)q^m + 2(-q)^m \mathcal{B}_{n-m,q}^{(k)}(x) \right\} + \mathcal{G}_{n,q}^{(k)}(x).$$

Theorem 6. *The following equation holds true:*

$$\mathcal{G}_{n,q}^{(-k)} = 2 \sum_{i=0}^{\infty} (-1)^i \sum_{j=0}^{\infty} (j!)^2 \sum_{l=0}^k \binom{k}{l} \mathcal{S}_2^{q^{-1}}(l, j) \left[\mathcal{S}_2(n, j, 1+i) - \mathcal{S}_2\left(n, j, \frac{x}{q}\right) \right] q^n \quad (22)$$

where $i, j, l, k \in \mathbb{N}_0$ and $x \in \mathbb{R}$.

Proof. From (15),

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(-k)} \frac{t^n}{n!} &= \frac{2qL_{i_k}\left(\frac{1-e^{-qt}}{q}\right)}{e^{qt}+1} = \frac{2q}{e^{qt}+1} \sum_{m=1}^{\infty} \left(\frac{1-e^{-qt}}{q}\right)^m m^k \\ &= \frac{2q}{e^{qt}+1} \sum_{m=0}^{\infty} (m+1)^k (q^{-1}(1-e^{-qt}))^{m+1}. \end{aligned}$$

From here,

$$\begin{aligned} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(-k)} \frac{t^n}{n!} \frac{u^k}{k!} &= \frac{2q}{e^{qt}+1} \sum_{k=0}^{\infty} \sum_{m=0}^{\infty} (m+1)^k (q^{-1}(1-e^{-qt}))^{m+1} \frac{t^k}{k!} \\ &= \frac{2q}{e^{qt}+1} q^{-1} (1-e^{-qt}) e^u \sum_{m=0}^{\infty} [q^{-1}(1-e^{-qt}) e^u]^m \\ &= \frac{2(1-e^{-qt}) e^u}{e^{qt}+1} \frac{qe^{qt}}{qe^{qt} - e^{u+qt} + e^u} \\ &= 2 \sum_{i=1}^{\infty} (-1)^i \left\{ \sum_{j=0}^{\infty} e^u (q^{-1}u-1)^j e^{qt(1+i)} (e^{qt}-1)^j - \sum_{j=0}^{\infty} e^u (q^{-1}e^u-1)^j e^{qt} (e^{qt}-1)^j \right\}. \end{aligned}$$

Using (12) and (13), we write as

$$\begin{aligned} &= 2 \sum_{i=0}^{\infty} (-1)^i \sum_{j=0}^{\infty} \left\{ \sum_{m=0}^{\infty} \frac{u^m}{m!} j! \sum_{l=0}^{\infty} \mathcal{S}_2^{q^{-1}}(l, j) \frac{u^l}{l!} j! \sum_{n=0}^{\infty} \mathcal{S}_2(n, j, i+1) \frac{q^n t^n}{n!} \right. \\ &\quad \left. - \sum_{m=0}^{\infty} \frac{u^m}{m!} j! \sum_{l=0}^{\infty} \mathcal{S}_2^{q^{-1}}(l, j) \frac{u^l}{l!} j! \sum_{n=0}^{\infty} \mathcal{S}_2\left(n, j, \frac{x}{q}\right) q^n \frac{t^n}{n!} \right\} \\ &= \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \left\{ 2 \sum_{i=0}^{\infty} (-1)^i \sum_{j=0}^{\infty} (j!)^2 \sum_{l=0}^k \binom{k}{l} \mathcal{S}_2^{q^{-1}}(l, j) \left[\mathcal{S}_2(n, j, 1+i) - \mathcal{S}_2\left(n, j, \frac{x}{q}\right) \right] q^n \right\} \frac{t^n}{n!} \frac{u^k}{k!}. \end{aligned}$$

Comparing the coefficient of $\frac{t^n}{n!}$, we have closed relation in (22). ■

Theorem 7. *The following relation holds true:*

$$\mathcal{G}_{n,q}^{(k)}(x) = 2 \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \sum_{i=0}^{\infty} (-1)^{i+l+r+m} q^{2l-m-n} (m+1)! \mathcal{S}_2\left(n, m+1, -\frac{x}{q}\right). \quad (23)$$

Proof. From (16)

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)}(x) \frac{t^n}{n!} &= \frac{2q}{e^{qt} + 1} \sum_{m=1}^{\infty} \frac{\left(\frac{1-e^{-qt}}{q}\right)^m}{m^k} e^{xt} \\
 &= \frac{2q}{e^{qt} + 1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} \left(\frac{1-e^{-qt}}{q}\right)^{m+1} e^{xt} \\
 &= \frac{2q}{e^{qt} + 1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} q^{-m-1} (-1)^{m+1} (e^{-qt} - 1) e^{xt} \\
 &= \frac{2}{e^{qt} + 1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} q^{-m} (-1)^{m+1} (e^{-qt} - 1)^{m+1} e^{xt} \\
 &= 2 \sum_{i=0}^{\infty} (-1)^i e^{iqt} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} q^{-m} (-1)^{m+1} (e^{-qt} - 1)^{m+1} e^{xt} \\
 &= 2 \sum_{i=0}^{\infty} (-1)^i \sum_{l=0}^{\infty} (iq)^l \frac{t^l}{l!} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} q^{-m} (-1)^{m+1} (m+1)! \sum_{n=0}^{\infty} \mathcal{S}_2\left(n, m+1, -\frac{x}{q}\right) \left(\frac{-t}{q}\right)^n \frac{1}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} 2 \sum_{i=0}^{\infty} (-1)^{i+l+r+m} \sum_{m=0}^{\infty} \frac{1}{(m+1)^k} q^{l-m-r} (m+1)! \mathcal{S}_2\left(n, m+1, -\frac{x}{q}\right) \frac{t^n}{n!}.
 \end{aligned}$$

Cauchy product and comparing the coefficient of $\frac{t^n}{n!}$, we have (23). ■

Theorem 8. *The following relation holds true:*

$$\mathcal{G}_{n,q}^{(k)}(x) = 2q \sum_{i=0}^{\infty} (-1)^{m+1-j} \sum_{m=0}^{\infty} \frac{(-q)^{m+1}}{(m+1)^k} \sum_{j=0}^{m+1} \binom{m+1}{j} (x - qj + qi)^n. \quad (24)$$

Proof. From (16):

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathcal{G}_{n,q}^{(k)}(x) \frac{t^n}{n!} &= \frac{2q}{e^{qt} + 1} \sum_{m=0}^{\infty} \frac{(-1)^{m+1}}{(m+1)^k} q^{-m-1} (e^{-qt} - 1)^{m+1} e^{xt} \\
 &= \frac{2q}{e^{qt} + 1} \sum_{m=0}^{\infty} \frac{(-q)^{-m-1}}{(m+1)^k} \sum_{j=0}^{m+1} \binom{m+1}{j} e^{t(x-qj)} \\
 &= 2q \sum_{i=0}^{\infty} (-1)^i \sum_{m=0}^{\infty} \frac{(-q)^{-m-1}}{(m+1)^k} \sum_{j=0}^{m+1} \binom{m+1}{j} e^{t(x-qj+qi)} \\
 &= 2 \sum_{n=0}^{\infty} \left\{ q \sum_{i=0}^{\infty} (-1)^i \sum_{m=0}^{\infty} \frac{(-q)^{-m-1}}{(m+1)^k} \sum_{j=0}^{m+1} \binom{m+1}{j} (x - qj + qi)^n \right\} \frac{t^n}{n!}.
 \end{aligned}$$

Comparing the coefficient of $\frac{t^n}{n!}$, we have (24). ■

REFERENCES

- [1] T. Arakawa, M. Kaneko, *Multiple zeta values, Poly-Bernoulli numbers and related zeta functions*, Nagaya Math. J., **153** (1999), 189-209.
- [2] S. Araci, *Novel identities for q -Genocchi numbers and polynomials*, Journal of Function Spaces and Applications, Volume 2012, (2012), Article ID 214961, 13 pages.

- [3] S. Araci, *Novel identities involving Genocchi numbers and polynomials arising from applications of umbral calculus*, Applied Mathematics and Computation, **233** (2014), 599-607.
- [4] A. Bayad, Y. Hamahata, *Polylogarithms and poly-Bernoulli polynomials*, Kyushu. J. Math., **65** (2011), 15-24.
- [5] L. Carlitz, *Weighted Stirling numbers of the first and second kind-I*, Fibonacci Quart., **18(2)** (1980), 147-162.
- [6] M. Cenkci, P. T. Young, *Generalization of poly-Bernoulli and poly-Cauchy numbers*, European J. Math., **1** (2015), 799-828.
- [7] M. Cenkci, T. Komatsu, *Poly-Bernoulli numbers and polynomials with a q -parameter*, J. of Number Theory, **152** (2015), 38-54.
- [8] M. -A. Coppo, B. Candelpergher, *The Arakawa-Kaneko zeta function*, Ramanujan J., **22** (2010), 153-162.
- [9] Y. Hamahata, *Poly-Euler polynomials and Arakawa-Kaneko type zeta functions*, Functiones et Approximatio Commentari Math., **51** (2014), 7-22.
- [10] H. Jolany, R. B. Corcino, *Explicit formula for generalization of poly-Bernoulli numbers and polynomials with a, b, c parameters*, Journal of Classical Analysis, **6(2)**, (2015), 119-135.
- [11] H. Jolany, R. B. Corcino, T. Komatsu, *More properties on Multi-Poly-Euler polynomials*, Bul. Soc. Math. Mex., **21** (2015), 149-162.
- [12] K. Kamono, *A formula for multi-poly-Bernoulli numbers of negative index*, Kyush. J. Math., **67** (2013), 29-37.
- [13] M. Kaneko, *Poly-Bernoulli numbers*, Journal de Théorie des Nombres de Bardeox, **9** (1997), 221-228.
- [14] B. Kurt, *Some identities for the generalized Poly-Genocchi polynomials with the parameters a, b and c* , Journal of Math. Anal., **8(1)**, (2017), 156-163.
- [15] T. Kim, S. Y. Jang, J. J.Seo, *A note on poly-Genocchi numbers and polynomials*, Appl. Math. Sci., **18(96)** (2014), 4775-4781.
- [16] T. Komatsu, *q -poly-Bernoulli numbers and q -poly-Cauchy numbers with a parameter by Jackson's integrals*, arxiv.1503[Math.NT] 29 Marc 2015.
- [17] T. Komatsu, *Poly-Cauchy numbers with q -parameter*, Ramanujan J., **31** (2013), 353-371.
- [18] Q.-M. Luo, H. M. Srivastava, *Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind*, App. Math. Comp., **217** (2011), 5702-5728.
- [19] H. M. Srivastava, B. Kurt, Y. Simsek, *Some families of Genocchi type polynomials and their interpolation function*, Integral Transforms Spec. Func., **23** (2012), 919-938.
- [20] H. M. Srivastava, *Some generalizations and basic (or q -) extensions of the Bernoulli, Euler and Genocchi polynomials*, Appl. Math. Inform. Sci., **5** (2011), 390-444.
- [21] H. M. Srivastava, J. Choi, *Zeta and q -Zeta Functions and associated series and Integers*, Elsevier Sciences Pub. Amsterdam, London, New York, 2012.
- [22] R. S.-Peregrino, *Closed formula for poly-Bernoulli numbers*, Fibonacci Quart., **40** (2002), 362-364.

BURAK KURT, DEPARTMENT OF MATHEMATICS, FACULTY OF EDUCATIONS UNIVERSITY OF AKDENIZ, TR-07058 ANTALYA, TURKEY,

Email address: burakkurt@akdeniz.edu.tr